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10th- (Mathematics)
TERM 1 Practice Questions-2021-22 =

WEEKLY REVISION ASSIGNMENT-15

1. foq forfo3 Wes St AgesT dat J ?

What is the probability of a sure event ?

(a)o (b)1/2 (c)1 (d) -1

2. f&g fidg A3, 7 Fag @ ded 325 M1 €I I w3 Tag & AUgn Sy &
BIE 24 AH 3 | I T w3y fenm/ u3T I3

From a point A ,the length of tangent to a circle is 24 cm and

distance of A fromthe centre is 25 cm. Find the radius of the circle.

(a) 7Zcm (b) 17cm (c) 49cm  (d)25cm

3. © AN dudl gag' © wIy fend A 5 AX w3 4 AH I&1<3 gag ©f €A Hie & st
3T a3 7 fa 22 gag § AusH Ja<l J|

If radii of two concentric circles are 5 cm and 3 cm then the length of each

chord of one circle which touches the other circle is

(a)4cm (b) 6cm (c) 8cm (d) 2cm

4. BT @ WIY fen A HIT 8 AW W3 6 AH I | A Taad T wiadd fowA U3 a3
fAr e 9393 fegs’ O ga9' e H3des e HF S 5T I |

The radii of two circles are 8cm and 6cm respectively .Find the radius of that circle
whose area is equal to the sum of the areas of two circles.

(a) 5cm (b) 15 cm (c) 12cm (d) 10 cm
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5. A fHg (-5,1), (1,p) W3 (4,-2) ISt IT 37 p T 1S THI

If the points (-5,1) , (1,p) and (4,-2) are collinear, find the value of p .
(a)3 (b) 2 (c)1 (d) -1

6. x-U3 3 fEx g uz~ a3 H fa ffeni (7,6) W3 (3,4 S e TA 3 T |
The point on X-axis ,which is equidistant from the point (7,6) and (-3,4) is :

(a)(0,3) (b)(4,3) (c)(3,0) (d)None of these (fEgat J a8t &df)

7. fan feg @ fogen wig uzT a3 7 fa fienw (-1,7) W3 (4,-3) §2:3° weu3 R

g3e JI

Find the coordinate of the point which divides the join of (-1,7) and (4,-3) in the ratio 2:3.

(a) (1,3) (b) (2,6)  (c)(3,4)  (d)(4,6)

8. T sin A +sin2A =1 3 cos?A + cos*A T HS o J=dT ?
If sin A +sin?A =1 then what is the value of the expression cos?A + cos*A ?

(a)o (b) 1 (c)2 (d) 9

9. I 2sin 9 =3 370 = eeeeeunee.

If 2 sin @ =3 then 6 = ....uuu.......

(a) 30° (b) 60° (c) 45° (d) 90°

10.feg (0,-3) Sty g I gt &t I 2

Distance of the point (0,-3) from the origin is :

(@)3 (b) 7 ()0 (d) feger f&9 a8t &dt ( None of these )

f3ng g3 »ifzHa AE A
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